Istruzioni per istallazione giunto Cod 2100/0023/12

COD

MicroPagUf0®

Scatola di giunzione completa di 2 morsetti doppi 2.5 mmgq, vite in acciaio INOX.
Junction Box with Double Terminals 2 x 2.5 mmq and 1 INOX stainless steel screw included.
Boitier de connection avec bornier double 2 x 2.5 mm? avec un vis acier inoxydable incluse.
Verteilerbox mit Doppel-Anschlussklemme 2 x 2.5 mm?2 und 1 rostfrei Stahlschraube.
Koppligsdosa med dubbla plintar 2 x 2.5 mm?2 och 1 INOX rostfritt stalskruv.
Verbindingsdoos met dubbele aansluitkiemmen 2 x 2.5mm? en 1 INOX roestvrij stalen schroef.
Caja de conexion con doble terminal 2 x 2.5 mm? y tornillo en acero inoxidable

2
ﬁ/ sez. mm

ISTRUZIONI DI MONTAGGIO
INSTRUCTION DE MONTAGE
INSTALLATION INSTRUCTIONS
INSTRUCCIONES DE MONTAJE
MONTAGEANWEISUNGEN
INSTALLATIE INSTRUCTIES
INSTALLATIONSBESTAMMELSER

IP68 o

,3 mt di profondita
,3 mt depth

,3 mt de profondeur
3 meterTiefe

.3 m djup

,3 meter diepte

3 m de profundidad

5665

4,8+6

2x0,75

Sguainatura cavi.

L'azienda declina ogni responsabilita
per incidenti e/o danni causati dal non
corretto ed appropriato uso del

The Company declines any possible
liabilities for direct or indirect accidents
and/or damages produced by wrong and

Aterdppningsbar

Foretaget avséger sig allt ansvar for
direkt eller indirekt skada som
uppkommit av felaktig och olamplig
anvandning.

prodotto. inappropriate use.

Produkta Fakta (S) | Karakteristieken (NL)
Ingen av livslang Onbe

Séker och giftfri Veilig en niet giftig

Klar att anvénda Klaar voor gebruik

Demonteerbaar en opnieuw
monteerbaar

De leverancier neemt geen enkele
verantwoording voor ongelukken of
schades ontstaan door verkeerd gebruik
en of een verkeerde aansluiting.

La Societé n'est pas responsable pour
tout accident et/ou dommage direct ou
indirect provoqué par une utilisation
incorrecte et impropre du produit

Caracteristicas (E)
Sin vencimiento

Seguro y atoxico

Pronto al uso

Reaccessible

La Sociedad declina cada eventual
responsabilidad por los incidentes y/o
danos directos o indirectos causados
del uso no apropriado y correcto del
producto

— Wire Stripping.
Degainage et denudage du cable.
B C . Kabel aus der Schutzhtilse befreien.
- Avisolering av ledningsandar.
A Strip de kabel.
Quitar un trozo de manguera y pelar
A=11 mm las puntas del cable
B= 4 mm
C=7mm
Caratteristiche () | Characteristics (GB)| Caracteéristiques (F) | Eigenschaften (D)
Senza scadenza No Limit Life Pas de échéance Keine Verfallfrist
Sicuro e atossico Safe and not toxic Fiable et atoxique Sicher und atoxisch
Pronto all'uso Ready for use Pret a’ 'usage Einstazbereit
Riaccessibile Reenterable Reaccessible Wiedererreichbar

Die Firma lehnt die Verantwortung fur
direkte oder indirekte Unfalle oder
Schaden ab, die durch eine unkorrekte
Benutzung des Produkts verursacht
werden.

STEAB S.p.A.

Via U.Corsi, 15 - 50141 Firenze -ltaly
Tel.055 416 989

Fax 055 416 988
E-mail:info@steab.it

opm-n

www.steab.it -www.steab-spa.com

REV. 1 - 6/2014




Rimuovere le membrane.

Remove the clips on both ends of the Gel cover by breaking
along the moulded membrane each as shown.

Perforer les membranes pré-percees.
Brechen Sie die angeritzte Membrane aus.

Avlagsna klammorna i bada andarna av locket genom att bryta
langs det formade membranet sasom visas.

Verwijder de voor gestanste uitsparingen.
Romper las membranas.

Collegare i cavi ai morsetti.

Prepare and attach the conductors to the terminals in the base as
shown.

Connecter les conducteurs aux borniers.
Verbinden Sie das Kabel mit der Anschlussklemme
Anslut sedan ledarna till kopplingsplinten.

Sluit de kabels aan in de contacten.

Conectar los cables a los terminales.

€)

Fissare il coperchio con la vite in Acciaio INOX.

Assemble the Gel cover onto the base and push firmly to ensure
cover is correctly positioned. Insert and fasten the INOX screw to
ensure Gel cover stays in the place.

Fixer le couvercle avec la vis en acier inoxydable.
Befestigen Sie den Deckel mit der Edelstahlschraube
Fast locket med INOX rostfria skruv.

Monteer de deksel met de roestvrij stalen INOX schroef.
Fijar la tapa con el tornillo en acero inoxidable.

Fissaggio a parete.

Optional fitting of the Paguro to wall or post etc. can be achieved
by using a suitable screw through the moulded mounting lug
(hole diameter 3.3mm) on the side of the unit as shown.

Possibilite de fixer la boite au mur ou surface.
Wandmontage.

Vaggmontering.

Wandmontage.

Fijacion a pared.




